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2. (a) Solve the following differential equation
b (mz —ny)p +(nx ~1z)q =1y - mx

Evaluate log;, 301 by :mw,,m \

A . NN Kt Xy
() Solve by Charpit's method : 4 difference formula

] ine i otched and fastened to two points
u.?w&mﬂ.ﬁm.mwﬂﬁ%. N
=1 ix= i started by displacing th,

x =0and x ={. Motion is . J

string in the form y = a sin 7 )
released at time ¢ = 0. Show that the displacement
is given by

(b) Evaluate :

from which it ig

.ﬁﬁ ,Nm
y(x, t)=as IﬂnOmMN

Using W&mﬂm of separation of variables, solve
«r‘uw.,mr.n where u(x, 0) = 6¢-3+. 7.5

’

UNIT -1
of the equation x> —~x-9=0 by

D




